


1. FEATURES

2. SPECIFICATIONS

3. INSTRUCTIONS

Overall Length
Material
Surface treatment 
Surface treatment 
Hardness

2

CAUTION

•
•
•
•
•
•
•
•
•



4. APPLICATIONS

3

The application below is for reference only. More vehicle applications are possible. Some car models may use
multiple types of sizes due to variations in body style (e.g. sedan, hatchback, or cabriolet), engine size and
capacity (e.g. 1.6L, 1.8L, 2.4L), and engine numbers.

eziSepyTraeYledoMekaM
tloB 52.1 × 41M0202-0002sledom llAoemoR aflA
tloB 05.1 × 41M0202-0002sledom llAiduA

52.1 × 41Msledom gniwollof eht tpecxE0202-6002sledom wen llAWMB  Bolt
tloB 05.1 × 21Mi6112102-600218E seireS 1WMB
tloB 05.1 × 21MM3102-700228E seireS 1WMB

BMW 3 Series E36 1990-2000 318i, 320i, 323i, 325i, 328i; 318 tds, 325 td M12 × 1.50 Bolt
BMW 3 Series E46 1997-2007 318 Ci, 318 Ci, 320 Ci, M3 3.2; 318 td, 320 Cd M12 × 1.50 Bolt

 05.1 × 21Md023 ,d813 ;i033 ,i523 ,i8131102-400209E seireS 3WMB Bolt
 05.1 × 21Md523 ,d023 ,d813 ,d613 ;i0232102-400219E seireS 3WMB Bolt

tloB 05.1 × 21Mi8133102-500229E seireS 3WMB
tloB 05.1 × 21Md523 ;i8133102-600239E seireS 3WMB

BMW 5 Series E39 1995-2004 525i, 528i, 540i, M5; 525 tds, 530d M12 × 1.50 Bolt
tloB 05.1 × 21Md535 ,d525 ,d025 ;i0250102-100206E seireS 5WMB

BMW 5 Series E61 2004-2010 525i, 545i, 5 tloB 05.1 × 21M ;i05
tloB 05.1 × 21Mi056 ,iC 546 ,i0360102-300236E seireS 6WMB
tloB 05.1 × 21Mi056 ,iC 546 ,i0360102-400246E seireS 6WMB

BMW 7 Series E38 1994-2001 728i, 740i, 750i; 725 tds, 730d, 740d M12 × 1.50 Bolt
BMW 7 Series E65 2001-2009 730i, 740i, 750i, 760i; 730d. 745d, 750d M14 × 1.50 Bolt

tloB 05.1 × 21Mi058 ,i0489991-099113E seireS 8WMB
tloB 05.1 × 21Mi82 evirDx ,i02 evirDx5102-900248E 1XWMB

BMW X3 E83 2003-2011 2.0i, 2.5i, 3.0i; xDrive 18d, 2.0d, 3.0d M14 × 1.50 Bolt
tloB 05.1 × 41Md0.3 ;si8.4 ,si6.4 ,i4.4 ,i0.36002-000235E 5XWMB
tloB 05.1 × 21MM ,i0.3 ,i8.23002-799163E 3ZWMB

BMW Z4 E85 2003-2009 2.5si, 3.0si, sDrive30i, sDrive35i M12 × 1.50 Bolt
tloB 05.1 × 21Mi53evirDs ,i03evirDs6102-900298E 4ZWMB
tuN 05.1 × 21MD 3.1 ;saG - L4.1 ,L2.10202-3002oevAtelorvehC

5.1 × 21MsaG - 6V L3.45002-5991rezalBtelorvehC 0 Nut
tuN 05.1 × 21McirtcelE0202-7102VE tloBtelorvehC

 05.1 × 21MsaG - 8V L7.5 ,saG - 6V L8.32002-5991oramaCtelorvehC Nut
Chevrolet Captiva 2006-2020 2.4, 3.0 Flex, 3.2; 2.0 D, 2.2 D, 2.4 D M12 × 1.50 Nut

5.1 × 21MsaG - 4L L4.2 ,saG - 4L L2.23002-6991reilavaCtelorvehC 0 Nut
tuN 05.1 × 21MsaG - 4L L2.20102-5002tlaboCtelorvehC

Chevrolet Colorado 2004-2012 2.9L L4, 3.5L L5, 3.7L L5 - Gas M12 × 1.50 Nut
Chevrolet Corve tuN 05.1 × 21MsaG - 8V L7.51002-0991ett
Chevrolet Cruze 2011-2015 1.4L L4, 1.8L L4 - Gas; 2.0L L4 - Diesel M12 × 1.50 Nut
Chevrolet Cruze 2016-2019 1.4L L4 - Gas, 1.6L L4 - Diesel M12 × 1.50 Nut

tuN 05.1 × 21MD 0.2 ;saG - L5.2 ,L0.20202-5002acipEtelorvehC
tuN 05.1 × 21MsaG - 6V L4.39002-5002xoniuqEtelorvehC

05.1 × 21MsaG - 4L L0.2 ,saG - 4L L5.10202-8102xoniuqEtelorvehC  Nut
 21MsaG - 0.20202-5002adnavEtelorvehC × 1.50 Nut

tuN 05.1 × 21MsaG - 4L L4.2 ,saG - 4L L2.21102-6002RHHtelorvehC
 05.1 × 21MsaG - 6V L8.3 ,saG - 6V L4.35002-0002alapmItelorvehC Nut
 05.1 × 21MsaG - L3.5 ,L9.3 ,L6.3 ,L5.33102-6002alapmItelorvehC Nut

tuN 05.1 × 21MD 0.2 ;8.1 ,6.1 ,4.10202-3002ittecaLtelorvehC
tuN 05.1 × 21MsaG - 6V L1.33002-7991ubilaMtelorvehC

Chevrolet Malibu 2004-2010 2.2L L4, 3.5L V6, 3.9L V6 - Gas M12 × 1.50 Nut
Chevrolet Malibu 2 tuN 05.1 × 21MsaG - 6V L6.3 ,saG - 4L L4.22102-800
Chevrolet Malibu 2016-2020 1.5L L4 - Gas, 1.8L Hybrid, 2.0L L4 - Gas M12 × 1.50 Nut



eziSepyTraeYledoMekaM
tuN 05.1 × 21MsaG - L0.10202-5002zitaMtelorvehC

 21MsaG - L3.5 ,9.3 ,8.3 ,5.3 ,4.37002-8991olraC etnoMtelorvehC × 1.50 Nut
tuN 05.1 × 21MD 0.2 ;8.1 ,6.16102-5002aribuNtelorvehC
tuN 05.1 × 21MsaG - 6.10102-3002artpOtelorvehC
tuN 05.1 × 21MsaG - 4L L4.24102-2102odnalrOtelorvehC
tuN 05.1 × 21MsaG - 8.12002-8991mzirPtelorvehC
tuN 05.1 × 21MsaG - 4L L8.1 ,4L L4.10202-2102cinoStelorvehC

Chevrolet Spark 2000-2020 0 tuN 05.1 × 21McetocE L4.1 ;2.1 ,0.1 ,8.
tuN 05.1 × 21M0.2 ,6.18102-5002amucaTtelorvehC
tuN 05.1 × 21MsaG - 4L L4.10202-5102xarTtelorvehC
tuN 05.1 × 21MsaG - 6V L4.35002-7991erutneVtelorvehC
tuN 05.1 × 21M--6102-0002tnaviVtelorvehC
tuN 05.1 × 21MsaG/cirtcelE - 4L L4.12102-1102tloVtelorvehC
tuN 05.1 × 21MsaG/cirtcelE - 4L L5.19102-3102tloVtelorvehC
tuN 05.1 × 21MsaG - 6V L6.3 ,L4.24102-2102002relsyrhC

Chrys tuN 05.1 × 21MsaG - 6V L5.3 ,L7.24002-9991003rel
tuN 05.1 × 21MsaG - L4.2 ,L0.20002-7991surriCrelsyrhC
tuN 05.1 × 21MsaG - L5.3 ,L3.3 ,L7.24002-7991edrocnoCrelsyrhC
tuN 05.1 × 21ML3.3 ,L0.30002-0002regayoV dnarGrelsyrhC
tuN 05.1 × 21MsaG - L5.31002-7991SHLrelsyrhC
tuN 05.1 × 21MsaG - L0.4 ,L5.38002-3002acificaPrelsyrhC
tuN 05.1 × 21MdirbyH ;saG - 6V L6.30202-7102 acificaPrelsyrhC

Chrysler PT Cruiser 2001-2 tuN 05.1 × 21MDRC 2.2 ;saG - L4.2010
tuN 05.1 × 21MsaG - 6V L7.2 ,saG - L4.21102-7991gnirbeSrelsyrhC
tuN 05.1 × 21MsaG - L8.3 ,L3.30102-7991yrtnuoC & nwoTrelsyrhC
tuN 05.1 × 21MsaG - 6V L6.36102-1102yrtnuoC & nwoTrelsyrhC

Chrysler Voyager 1997-2003 2.4L, 3.3L, 3.8L - Gas; 2.5 CRD, 2.8 CRD M12 × 1.50 Nut
tuN 05.1 × 21MsaG - 6V L6.30202-0202regayoVrelsyrhC
tloB 05.1 × 21MIDH 4.1 ;0.14102-50021CneortiC

Citroen C tloB 05.1 × 21MITV 2.1 ,ITV 0.10202-41021
B 05.1 × 41MIDH 0.2  ,DT 9.1 ;i0.2 ,6.16002-5991hctapsiDneortiC olt

tuN 05.1 × 61M011 IDH 2.20202-6002yaleRneortiC
Citroen Synergie 1994-2002 1.8, 2.0; 1.9 TD, 2.0 HDI, 2.1 TD M14 × 1.50 Bolt

.1 × 21MIDH 8.1 ,IDH 6.1 ;saG - L6.10202-2102ssorcriA 4CneortiC 50 Nut
Citroen C8 2002-2016 2.0, 2.2, 3.0; 2.0 HDI, 2.2 HDI M14 × 1.50 Bolt

MIDH 2.2 ;V61 4.20202-7002ressorC-CneortiC 12 × 1.50 Nut
tuN 05.1 × 21McirtcelE0202-0102oreZ-CneortiC
tuN 05.1 × 21MsaG - 6V L6.3 ,L4.24102-7002regnevAegdoD
tuN 05.1 × 21MsaG - L4.2 ,L0.22102-7002rebilaCegdoD
tuN 05.1 × 21MsaG - L4.27002-7991navaraCegdoD
tuN 05.1 × 21MsaG - L4.21102-0102sserpxEegdoD
tuN 05.1 × 21MsaG - L8.3 ,L3.30102-7991navaraC dnarGegdoD
tuN 05.1 × 21MsaG - 6V L6.30202-1102navaraC dnarGegdoD

Dodge Intrepid 1997-2004 2.7L, 3.2L V6 - tuN 05.1 × 21MsaG 
tuN 05.1 × 21MsaG - 6V L6.3 ,L4.20202-9002yenruoJegdoD
tuN 05.1 × 21MsaG - L0.2 ,L8.15002-7991noeNegdoD
tuN 05.1 × 21MsaG - L4.2 ,L0.26002-7991sutartSegdoD

oB 52.1 × 41Msledom gniwollof eht tpecxE0202-0002sledom llAtaiF lt
tloB 05.1 × 21MtejitluM D 9.18102-5002amorCtaiF

Fiat Ducato 2006-2020 110 Multijet 2.3 D, 115 Multijet 2.0 D M16 × 1.50 Nut
Fiat Grande Punto 2005-2016 1.2, 1.4; 1.3, 1.6, 1.9 D Multijet M12 × 1.50 Bolt

tloB 05.1 × 21MtejitluM D 3.1 ;riA itluM 4.10202-8002otnuPtaiF
tloB 05.1 × 41MDTJ 0.2 ,D 9.1 ;0.2 ,6.16002-6991oducStaiF

4



eziSepyTraeYledoMekaM
tloB 05.1 × 41MD 9.1 ;saG - L0.24991-9891otnelaTtaiF

Fiat Ulysse 1994-2002 1.8, 2.0L - Gas; 1.9 TD, 2.1 TD M14 × 1.50 Bolt
Fiat Ulysse 2002-2011 2.0, 3.0L - Gas; 2.0 D Multijet, 2.2 JTD M14 × 1.50 Bolt
Ford B-Max 2012-2020 1.0L, 1.4L - Gas; 1.5 TDCi, 1.6 TDCi M12 × 1.50 Nut
Ford C-Max 2007-2010 1.6L, 1.8L, 2.0L - Gas; 2.0 TDCi M12 × 1.50 Nut

tuN 05.1 × 21M iCDT 0.2 ;saG - L6.1 ,L0.10202-0102xaM-CdroF
Ford Cougar 1998-20 tuN 05.1 × 21MV42 6V L5.2 ,V61 L0.210

tuN 05.1 × 21MD 8.1 ;saG - L4.1 ,L3.16991-9891reiruoCdroF
 05.1 × 21MsaG - 4l L0.2 ,4l L5.1 ,3l L0.10202-3102tropSocEdroF Nut

tuN 05.1 × 21MsaG - L0.3 ,L5.2 ,L3.2 ,L0.20102-1002epacsEdroF
Ford Escape 2005-2012 2.3L l4, 2.5L l4, 3.0L V6 - Gas M12 × 1.50 Nut
Ford Escape 2013-2019 1.5L l4, 1.6L l4, 2.0L l4, 2.5L l4 - Gas M12 × 1.50 Nut

 × 21MD 8.1 ;i3.1 ,L0.12002-5991atseiFdroF 1.50 Nut
Ford Fiesta 2001-2010 1.3L, 1.4L, 1.6L - Gas; 1.4 TDCi M12 × 1.50 Nut
Ford Fiesta 2008-2017 1.0L, 1.4L - Gas; 1.4 TDCi, 1.6 TDCi M12 × 1.50 Nut

tuN 05.1 × 21MsaG - 4l L6.1 ,3l L0.19102-3102atseiFdroF
Ford Focus 2004-2012 1.6L, 2.0L, 2.5L - Gas; 1.6 TDCi M12 × 1.50 Nut
Ford Focus 2010-2020 1.6L - Gas; 1.6 TDCi, 2.0 TDCi M12 × 1.50 Nut
Ford Focus 2012-2018 1.0L, 2.0L, 2.3L - Gas; Electric M12 × 1.50 Nut
Ford Fusion 2002-2012 1.25L, 1.4L - Gas; 1.4 TDCi, 1.6 TDCi M12 × 1.50 Nut
Ford Fusion 2013-2019 1.5L, 1.6L, 2.0L, 2.5L - Gas; 2.0L - Hybrid M12 × 1.50 Nut
Ford Galaxy 1995-2006 2.0L, 2.3L, 2.8L - Gas; 1.9 TDI M14 × 1.50 Bolt

tuN 05.1 × 21MsaG - L6.1 ,L3.1 ,L0.18002-6991AKdroF
tloB 52.1 × 41MiCDT 3.10202-8002AKdroF
tuN 05.1 × 21MiCDT 0.2 ;saG - L5.22102-8002aguKdroF
tuN 05.1 × 21MiCDT 0.2 ;tsooBocE 6.10202-2102aguKdroF

Ford Mondeo 2000-2007 1.8L, 2.0L, 2.5L - Gas; 2.0, 2.2 TDCi M12 × 1.50 Nut
Ford Mondeo 2007-2015 1.6L, 2.0L, 2.5L - Gas; 1.6, 2.0, 2.2 TDCi M12 × 1.50 Nut

tuN 05.1 × 21MV61 L7.12002-7991amuPdroF
tuN 05.1 × 21MsaG - L2.3 ,L5.2 ,L3.2 ,L2.20202-5102regnaRdroF
tuN 05.1 × 21MsaG - 6V L8.3 ,6V L0.37002-0002suruaTdroF
tuN 05.1 × 21MsaG - 8V L9.35002-2002dribrednuhTdroF
tuN 05.1 × 21MDT 5.2 ;saG - L0.20002-1991tisnarTdroF

Ford Tr tuN 05.1 × 21MsaG - L5.2 ,L0.2 ,L6.10202-4102tcennoC tisna
tuN 05.1 × 21MsaG - 6V L8.3 ,6V L0.33002-9991ratsdniWdroF
tuN 05.1 × 21MsaG - 4L L0.2 ,saG - 4L L5.10202-8102niarreTCMG

Honda All models 2000-2020 Except Oddssey (07-), Pilot (09-), Ridgeline (08-) M12 × 1.50 Nut
tuN 05.1 × 21M0202-0002sledom llAiadnuyH
tuN 05.1 × 21MsaG - L4.2 ,L0.27102-7002ssapmoCpeeJ

05.1 × 21MsaG - L4.2 ,L0.27102-7002toirtaPpeeJ  Nut
tuN 05.1 × 21M0202-0002sledom llAadzaM

Mercedes-Benz A-Class W168 1997-2004 A 140, 160, 190, 210; A 160, 170 CDi M12 × 1.50 Bolt
Mercedes-Benz A-Class W169 2004-2012 A 150, 160, 170, 180, 200; A 160, 180, 200 CDi M14 × 1.50 Bolt

41MiDC 022 A ;052 ,002 ,081 A8102-2102671W ssalC-AzneB-sedecreM  × 1.50 Bolt
Mercedes-Benz B-Class W245 2005-2011 B 150, 170, 200; B 180, 200 CDi M14 × 1.50 Bolt
Mercedes-Benz B-Class W246 2011-2018 B 180, 200, 220; B 180, 200 CDi M14 × 1.50 Bolt
Mercedes-Benz C-Class C204 2011-2020 C 180, 250, 350, C 63 AMG; C 220, 250 CDi M14 × 1.50 Bolt
Mercedes-Benz C-Class W202 1993-2000 C 200, 220, 240, 280; C 220 CDi M12 × 1.50 Bolt
Mercedes-Benz C-Class W203 2000-2007 C 160, 180; 230, 320, 350; C 220 CDi M12 × 1.50 Bolt
Mercedes-Benz C-Class W204 2007-2014 C 200, 230, 280, 300; C 180, 200, 350 CDi M14 × 1.50 Bolt

1 × 41Mcitam4 004 ,081 ,061 C0202-3102502W ssalC-CzneB-sedecreM .50 Bolt
Mercedes-Benz CLA C117 2013-2019 CLA 250, CLA 45 AMG; CLA 180 CDi/d M14 × 1.50 Bolt
Mercedes-Benz CLC-Class CL203 2008-2011 CLC 180, 200, 230, 350;  CLC 200, 220 CDi M12 × 1.50 Bolt

5



eziSepyTraeYledoMekaM
1MiDC 002 ,081 C ;003 ,002 C4102-6002612C ssalC-LCzneB-sedecreM 4 × 1.50 Bolt

Mercedes-Benz CLK A209 2003-2010 CLK 240, 280, 320, 350, 500; CLK 320 CDi M14 × 1.50 Bolt
Mercedes-Benz CLS C218 2011-2017 CLS 63 AMG, 350, 500;  CLS 250, 350 CDi M14 × 1.50 Bolt
Mercedes-Benz CLS C219 2004-2010 CLS 55, 63 AMG, 350, 500;  CLS 320 CDi M14 × 1.50 Bolt
Mercedes-Benz E-Class A207 2010-2016 E 300, 350, 500, 550; E 220, 250 CDi M14 × 1.50 Bolt
Mercedes-Benz E-Class W210 1995-2002 E 200, 240, 280, 430; E 220, 250 CDi M12 × 1.50 Bolt
Mercedes-Benz E-Class W211 2002-2008 E 280, 320, 350, 500;  E 280, 320, 350, 400 CDi M14 × 1.50 Bolt

1MiDC 052 E  ;003 ,052 ,002 E6102-9002212W ssalC-EzneB-sedecreM 4 × 1.50 Bolt
Mercedes-Benz G-Class W463 1989-2020 G 65 AMG. G 500; G 270, 300 CDi M14 × 1.50 Bolt
Mercedes-Benz GLA-Class X156 2013-2020 GLA 200, 250;  GLA 200, 220 CDi M14 × 1.50 Bolt
Mercedes-Benz GL-Class X164 2006-2012 GL 450, 500;  GL 320, 420 CDi M14 × 1.50 Bolt
Mercedes-Benz GL-Class X166 2012-2015 GL 400, 450, 500; GL 320, 350, 450 CDi M14 × 1.50 Bolt
Mercedes-Benz GLE W166 2015-2018 400, 500, AMG 63 4matic; 250 D, 350 D M14 × 1.50 Bolt
Mercedes-Benz GLK-Class X204 2008-2015 200, 250, 300, 350; 200, 220, 250 CDi M14 × 1.50 Bolt
Mercedes-Benz M-Class W163 1998-2005 ML 230, 350, 430, 500; ML 270, 400 CDi M14 × 1.50 Bolt
Mercedes-Benz M-Class W164 2005-2011 ML 350, 500; ML 220, 300, 320, 450 CDi M14 × 1.50 Bolt
Mercedes-Benz M-Class W166 2011-2015 ML 350, 400, 500;  ML 250 CDi M14 × 1.50 Bolt
Mercedes-Benz R-Class W251 2005-2014 R 280, 300, 350, 500;  R 280, 300, 350 CDi M14 × 1.50 Bolt

.1 × 41M006 LC ,citam4 005 LC3102-6002612C ssalC-SzneB-sedecreM 50 Bolt
Mercedes-Benz S-Class W220 1998-2005 S 280, 320, 350; S 320, 400 CDi M14 × 1.50 Bolt
Mercedes-Benz S-Class W221 2005-2013 S 350, 450, 500, 600; S 350, 420 CDi M14 × 1.50 Bolt
Mercedes-Benz S-Class W222 2013-2020 S 65 AMG, S 320, 400, S 600 Maybach M14 × 1.50 Bolt

 05.1 × 41M006 ,005 ,053 ,003 ,0822102-1002032R LSzneB-sedecreM Bolt
tloB 05.1 × 41M005 ,053 ,GMA 360202-2102132R LSzneB-sedecreM

Mercedes-Benz SLK R170 1996-2004 200, 230, 32 tloB 05.1 × 21M ,0
tloB 05.1 × 21M053 ,003 ,082 ,0021102-4002171R KLSzneB-sedecreM

 05.1 × 41MiDC 052 ;053 ,052 ,0020202-1102271R KLSzneB-sedecreM Bolt
tloB 05.1 × 41MsaG - L2.60202-0102791C GMA SLSzneB-sedecreM

05.1 × 41MiDC 913 ,613 ,1130202-6002t-5.3 retnirpSzneB-sedecreM  Bolt
B 05.1 × 41MiDC 612 ,312 ,0120202-6002t-3 retnirpSzneB-sedecreM olt

oB 05.1 × 41MiDC 112 ,8026002-5991109 retnirpSzneB-sedecreM lt
 × 21MiDC 7.1 ;saG - L9.1 ,L6.15002-2002414W oenaVzneB-sedecreM 1.50 Bolt

Mercedes-Benz Viano W639 2003-2020 3.0, 3.2, 3.7; CDi 2.0. 2.2, 3.0 M14 × 1.50 Bolt
Mercedes-Benz Vito W639 2003-2020 119, 122, 123; 109, 110, 111, 113, 115, 116 CDi M14 × 1.50 Bolt

tloB 52.1 × 41M0202-6002sledom llAiniM
tuN 05.1 × 21M0202-0002sledom llAihsibustiM

oB 05.1 × 41M051 ,041 ,021 ,001 ,09 iCd0202-2002ratsretnInassiN lt
Nissan Primastar 2001-2020 2.0L - Gas; 1.9 dCi, 2.0 dCi, 2.5 dCi M14 × 1.50 Bolt

tloB 05.1 × 21MsaG - 0.19102-2102madAlepO
tloB 05.1 × 21MsaG - 0.1 A7002-0002aligAlepO
tuN 05.1 × 21MITDC 2.2 ;L2.3 ,L0.3 ,L4.20202-6002aratnAlepO
tloB 05.1 × 21MDT 7.1 ;0.2 ,6.1 ,4.1 F1002-1991artsAlepO

Opel Astra 1998-2009 G 1.2, 1.4, 1.6, 1.8, 2.0; 2.2 DTI M12 × 1.50 Bolt
loB 05.1 × 21M ITDC 9.1 ,7.1 ;8.1 ,6.1 ,4.1 H4102-4002artsAlepO t

Opel Astra 2012-2020 J 1.4L, 1.6L, 2.0L - Gas; 1.7, 2.0 CDTI M12 × 1.50 Nut
tuN 05.1 × 21MITDC 0.2 ;saG - L6.1 ,L4.19102-3102adacsaClepO
tloB 05.1 × 21MITDC 7.1  ;6.1 ,4.16102-1002obmoClepO
tloB 05.1 × 21MITDC 0.2 ,3.1 ;GNC 4.10202-2102obmoClepO
tloB 05.1 × 21MD 7.1 ,DT 5.1 ;i4.1 ,0.1 B2002-3991asroClepO
tloB 05.1 × 21MITDC 7.1 ;4.1 ,2.1 ,0.1 C2102-0002asroClepO

1MITDC 3.1 ;4.1 ,2.1 ,0.1 D4102-6002asroClepO 2 × 1.50 Bolt
tloB 05.1 × 21MsaG - L4.1 E0202-4102asroClepO
tloB 05.1 × 41MsaG - L4.1 A7102-8002aingisnIlepO

6



eziSepyTraeYledoMekaM
tloB 05.1 × 21M6.1 ,4.1 A0102-3002avireMlepO
tloB 05.1 × 21MITDC 7.1 ,3.1 ;4.1 B7102-0102avireMlepO
tuN 05.1 × 21M4x4 4.10202-2102X akkoM/akkoMlepO
tloB 05.1 × 41MITD 0.3 ,5.2 ,3.2 ,2.2 ,9.1 B0202-9991onavoMlepO
tloB 05.1 × 21M ITD 0.2 ;2.3 ,0.3 ,2.2 ,0.2 B3002-4991agemOlepO
tloB 05.1 × 21M0.3 ,8.2 ,0.2 ,8.18002-3002mungiSlepO
tloB 05.1 × 21MV61 6.10002-4991argiTlepO

Opel Vectra 1995-2003 B 1.6i, 2.2i, 2.6i tloB 05.1 × 21MITD 0.2  ;
Opel Vectra 2002-2009 C 1.6, 1.8, 2.0, 2.2, 2.8; 1.9 CDTI M12 × 1.50 Bolt
Opel Vivaro 2001-2020 A 2.0 EcoTec; 2.0 CDTI, 2.5 CDTI M14 × 1.50 Bolt
Opel Zafira 1999-2005 A 1.6, 1.8, 2.0; 2.0 DI, 2.2 DTI M12 × 1.50 Bolt

tloB 05.1 × 21MITDC 7.1 ;8.1 ,6.1 B5102-5002arifaZlepO
tuN 05.1 × 21MsaG - L8.1 C6102-1102arifaZlepO
tloB 05.1 × 21MIDH 4.1 ;0.14102-5002701toegueP

Peugeot 108 2014-2020 1.0 VTI, 1 tloB 05.1 × 21M2.
Peugeot 806 1994-2002 1.8, 2.0; 1.9 TD, 2.0 HDI, 2.1 TD M14 × 1.50 Bolt
Peugeot 807 2002-2020 2.0, 2.2, 3.0; 2.0 HDI, 2.2 HDI M14 × 1.50 Bolt

tuN 05.1 × 21MIDH 2.2 ;saG - V61 L4.23102-70027004toegueP
tuN 05.1 × 21MIDH 8.1 ,IDH 6.10202-21028004toegueP

Peugeot Expert 1996-2006 1.6, 1.8, 2.0; 1.9 D 70, 2.0 JTD M14 × 1.50 Bolt
tuN 05.1 × 21McirtcelE0202-0102NOItoegueP

Ram ProMaster 1500 2014-2020 3.0L L4 - Diesel, 3.6L V6 - Flex M16 × 1.50 Nut
Ram ProMaster 2500 2014-2020 3.0L L4 - Diesel, 3.6L V6 - Flex M16 × 1.50 Nut
Ram ProMaster 3500 2014-2020 3.0L L4 - Diesel, 3.6L V6 - Flex M16 × 1.50 Nut

tloB 05.1 × 41MiCd 2.2 ;6V 0.3 ,V61 0.23002-1002emitnavAtluaneR
tloB 05.1 × 21MiCd 5.1 ;ecT 2.1 ,ecT 9.00202-3102rutpaCtluaneR
tloB 05.1 × 21MiCd 5.1 ,V61 2.10202-8991oilCtluaneR

Renault Espace 2002-2020 2.0, 3.5; 1.9 dCi, 2.0 dCi, 2.2 dCi, 3.0 dCi M14 × 1.50 Bolt
tloB 05.1 × 21MV61 6.10202-0102ecneulFtluaneR

 05.1 × 21MiCd 5.1 ;leuF-iB V61 6.16102-9002cinecS dnarGtluaneR Bolt
tloB 05.1 × 21MiCd 9.1 ,iCd 5.1 ;ecT 2.10202-5102rajdaKtluaneR
tloB 05.1 × 21M011 iCd 5.10202-8002oognaKtluaneR

Renault Laguna 1993-2001 1.8 16V, 2.0, 3.0; 1.9 dCi, 2.2 D M14 × 1.50 Bolt
tloB 05.1 × 21MiTd 9.11002-3991anugaLtluaneR

Renault Laguna 2001-2007 1.6, 1.8, 2.0, 3.0; 1.9 dCi, 2.2 dCi M12 × 1.50 Bolt
Renault Laguna 2008-2015 1.6, 2.0; 1.5 dCi, 2.0 dCi, 3.0 dCi M14 × 1.50 Bolt
Renault Latitude 2010-2020 2.0, 2.5; 1.5 dCi, 2.0 dCi, 3.0 dCi M14 × 1.50 Bolt

tloB 05.1 × 21MiCd 5.12102-4002nagoLtluaneR
Renault Master 1998-2020 1.9 dTi, 2.3 dCi, 2.5 dCi, 2.8 dTi, 3.0 dCi M14 × 1.50 Bolt
Renault Megane 2002-2016 1.4, 1.6, 1.9, 2.0; 1.5 dCi, 1.9 dCi M12 × 1.50 Bolt
Renault Megane 2008-2020 1.2 TCE, 2.0 TCE; 1.6 dCi, 2.0 dCi M12 × 1.50 Bolt
Renault Modus/Grand Modu tloB 05.1 × 21MiCd 5.1 ;6.1 ,4.1 ,2.10202-4002

B 05.1 × 41MTD 5.2 ;6V 0.3 ,2.2 ,V61 0.20002-6991enarfaStluaneR olt
tloB 05.1 × 21M6.10202-7002orednaStluaneR
loB 05.1 × 41MiCd 9.1 ;0.2 ,8.1 ,6.1 ,4.13002-9991cinecStluaneR t

05.1 × 21MiCd 9.1 ,iCd 5.1 ;0.2 ,6.1 ,4.10102-3002cinecStluaneR  Bolt
tloB 05.1 × 21MiCd 5.1 ;58E 6.16102-9002cinecStluaneR
tloB 05.1 × 21MiCd 0.2 ,iCd 9.1 ,iCd 6.10202-1102cinecStluaneR
tloB 05.1 × 21MiCd 5.1 ;V61 2.13102-8002ailahTtluaneR

1 × 21MiCd 6.1 ,iCd 5.1 ;0.2 ,8.1 ,6.10202-5102namsilahTtluaneR .50 Bolt
oB 05.1 × 41MiCd 5.2 ,iCd 0.2 ;saG - L0.20202-1002cifarTtluaneR lt

tloB 05.1 × 21MiCd 5.1 ;2.10202-3991ogniwTtluaneR
tloB 05.1 × 41MiCd 2.2 ;6V 5.30202-2002sitaS leVtluaneR

7



8

eziSepyTraeYledoMekaM
tloB 05.1 × 21M001 ECT 2.13102-0102dniWtluaneR
tloB 05.1 × 21MeoZ0202-2102eoZtluaneR
tuN 05.1 × 61MlorteP 4.1 ,0.18002-9991aibaFadokS
tuN 05.1 × 61MlorteP 4.10102-6991aivatcOadokS
tloB 05.1 × 21MTVV 2.10202-8002hsalpSikuzuS
tloB 05.1 × 21MSiDD 3.1 ;3.1 ,2.10202-5002tfiwSikuzuS
tloB 05.1 × 21MTVV 6.10202-60024XSikuzuS
tloB 05.1 × 21M3.16102-0002+R nogaWikuzuS

Toyota All models 2000-2020 Except Land Cruiser, Sequoia (07-), Tundra (08-) M12 × 1.50 Nut
tloB 05.1 × 21MIDH 4.1 ;0.10202-4102ogyAatoyoT

Volvo C30 2006-2012 1.8L, 2.4L - Gas; 2.0 D, D4, D5 M12 × 1.50 Nut
tloB 05.1 × 21MsaG - L5.2 ,4.2 ,3.2 ,0.25002-799107CovloV
tuN 05.1 × 21M5D ,3D ;i4.23102-600207CovloV

Volvo S40 1995-2004 1.6L, 1.8L, 2.0L - Gas; 1.9 TD M12 × 1.50 Nut
tuN 05.1 × 21MD 6.1 ;saG - L4.2 ,L8.1 ,L6.12102-400204SovloV

Volvo S60 2000-2010 2.0, 2.4, 2.5L tloB 05.1 × 41M5D 4.2 ;saG - 
tloB 05.1 × 41M5D ,4D ,3D ;saG - L0.28102-010206SovloV
tuN 05.1 × 21MIDT 5.2 ;saG - L4.2 ,L0.20002-699107SovloV

Volvo S80 1998-2006 2.0, 2.4, 2.8, 2.9, 3.0L - Gas; 2.5 TDI M14 × 1.50 Bolt
Volvo S80 2006-2016 2.0, 2.5, 3.2L - Gas; D3, D4, D5 M14 × 1.50 Bolt

tloB 05.1 × 41MsaG - L9.28991-699109SovloV
tuN 05.1 × 21MiD 9.1 ;saG - L0.2 ,L8.1 ,L6.14002-599104VovloV

Volvo V40 2012-2020 T3, T5 tuN 05.1 × 21M4D ,2D ;
Volvo V50 2003-2012 1.6L, 1.8L, 2.0L, 2.4L - Gas; 1.6 D, 2.0 D M12 × 1.50 Nut

tloB 05.1 × 41M4D ,3D ;saG -L4.2 ,6.18102-010206VovloV
tloB 05.1 × 41M5D 4.2 ;saG - L5.2 ,4.2 ,0.28002-999107VovloV

Volvo V70 2007-2016 1.6, 3.2L- Gas; 2.0 D, D2, D3, D4 M14 × 1.50 Bolt
tloB 05.1 × 41MsaG - L0.20202-910204CXovloV
tloB 05.1 × 41M4D ,3D ,D 4.2 ;saG -L2.3 ,0.20202-800206CXovloV

Volvo XC70 2007-2020 3.2 tloB 05.1 × 41M5D ,3D ,D 4.2 ;saG - L
tloB 05.1 × 41M5D ,3D ;saG - L2.3 ,5.24102-200209CXovloV
tloB 05.1 × 41M5D ,4D ;8T ,6T ,5T0202-410209CXovloV
tloB 05.1 × 41Msledom gniwollof eht tpecxE0202-0002sledom llAWV
tloB 05.1 × 21MIDT 9.1 ;saG - L9.1 ,L4.14002-5991yddaCWV

VW Golf 1991-1999 1.4L, 1.6L, 1.8L, 2.8L - Gas; 1.9 TD M12 × 1.50 Bolt
VW Lupo 1998-2005 1.0L, 1.4L, 1.6L; 1.4 TDI, 1.7 SDI M12 × 1.50 Bolt
VW Polo 1999-2001 1.4L, 1.6L - Gas; 1.4 TDI, 1.7 SDI, 1.9 TD M12 × 1.50 Bolt

tloB 05.1 × 21MpU-e ;leuFocE 0.1 ;L0.10202-1102PUWV


